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THIRD SEMESTER (CBCSS-UG) DEGREE EXAMINATION

NOVEMBER 2O2O

B.Com./B.B.A.

A l1-BASIC NUMERICAL METHODS

Maximum : 80 Marks
Time : TWo Hours and a HaIf

Section A

Answer at least ten questiotts'

Each question carries 3 marks'

All qucstíons can be attend'ed"

OueraII Ceiling 30-

1: What is weighted arithmetic mean'l

2. What is íeal rate of interest ?

3. What is Present value ?

4. What do you mean by symmetric disiribution ?

5. What is a sinking fund ?

6. lVhat do you mean by annuity ceriain ?

7 . Calculate mean '- 3, 7,5, 13, 20, 23' 39' 29' 40' 23' 14' 12' 56' 23' 29

8. Define'Median'.

9. Define'ArithmeticProgression''

10. What do you mean by open-end classes ?

11. What is Skewness ?

L2.Findthenextnumberinthefollorn'ingSequence:I,4,27,256,r.

13. What is variance ?
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Section ii
Au,slt)er aL least fivt: questi.on s.

Itrar:lt que stiott. canies 6 ntarJts.
AII questiotts ca¡t b¿ altencJerL.

Ouerall Cei.Iin.g 30.

l_! 92$0f)

Solve the quadratic equation 2x2 t x - S2g - O, usin¡J quadratic for.rnula.

A sum of money at simple iDtqrest amounts to Rs. 815 in 3 years and lo lìs. 854 in 4 yeats. Find the
principal amount.

( 2 -5 6\tf
What is thc transposc of thc matrix I - I 2 - 4 l?

l-3 -1 o)
What is Standard l)eviation ? WraL are ils rne¡its and delne¡its ?

An A.P. consists of50 terms of which B.d term is 12 and last term is 106. Find thc 29rh te'n.
Calculate the plesent value ofan annuity due ofPLs 5,000 per annum f'or 15 years at an interesf
ãL 8o/o p-a.

lf lhe harmonic mean bcl,wcen r I I and l-r is B, ri¡d 1.

Arun bor¡owcd Rs.I2,50O at12o/o pel annum for 3 ycars at simplc intel.est and Binil borrowecl th<:
same âmount for the sarne ¡reriod at r0o/o per:-num, compounded annually. wro pays more
interesi; and by how much ?

(5x6=B0marks)
Section {)

' 
Answer an)t twc questiorts-

.llaclt quesliort cøni.es lO tnarln.

Define'Matrix". Dxplain various typcs of matrices with suitablc exauples.

Ilì lhe srrpply {inction fo¡ a commodi t:y is p = qz +. Bq .r, 16 and the demancl functjon is

1s'-- - \qz I {iq +. 436, finrì the equilibr.ium quantiiy and cquilibriurn pricc.

Calculate the standard dcviation and coefficient ,¡f variation for the followìng distribution ;

Marks : 10 20 B 0 40 50

Nurnber of'students : 4 B 6 5 2

I¡ind the mean, merìian and mode of the fbllowing data ;

Çlasses

Frcquency

a-2a 20-4A 40_60

6 8 t0

60-80 80*100 100-120 720-140

12653
(2 x 1.0 = 20 marl<s)


